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Case study: why a job doesn't pay 


START: 

A single mother with 2 children aged 15 and 19 living in subsidized housing gets $13,873 annually from welfare, GST credit and federal child benefits.

ADD A JOB AND SCHOOL:

The mother takes a part-time job that pays $14,000 a year and her 19-year-old enrols in university part-time and gets a part-time job that pays $2,400. 
Both must now take public transit. The son has a $1,000 bursary. On paper, the family's income per year is $31,273.

The mother's and student's earnings reduce their welfare by $8,200 (half of her pay and half of his). 
Their earnings also cause their subsidized rent to rise by $2,268 per year. Payroll taxes eat up another $815. 
TTC and GO Transit passes for both cost $4,728 and work-related clothing another $1,000.

END:

The family is now left with $14,262 ($31,273 minus $17,011) or just $389 more before taxes than they had at the start. 

